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Section : English Language

Q.1 Select the most appropriate ANTONYM of the given word.
Sumptuous

Ans 1. Unremitting

2. Lucrative

3. Inexpensive

4. Delectable

Question ID : 264330143983
Status : Answered
Chosen Option : 2

Q.2 Select the meaningful and correctly spelt word from the given options to fill in the
blank.

The chief guest is to arrive at the venue within half an hour.
Ans 1. accepted
2. expieted
3. expected

4. espected

Question ID : 264330148934
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
Peter was brought in the penalty area.

Ans 1. was brought down of the
2. was brought of the
3. was brought on the

4. was brought down in the

Question ID : 264330143628
Status : Answered
Chosen Option : 4




Q.4 Identify the error in the use of preposition in the given sentence and select the correct
option.
Radhika is not capable on participating in a national level competition.

Ans 1. about
2. of
3.0n

4. at

Question ID : 264330150102
Status : Answered
Chosen Option : 2

Q.5 Select the option that expresses the given sentence in passive voice.
They cancelled the meeting due to bad weather.

Ans 1. The meeting is cancelled by them because of bad weather.
2. The meeting was cancelled due to bad weather.
3. They cancelled the meeting and bad weather was the cause.

4. The bad weather is the reason they cancelled the meeting.

Question ID : 264330149482
Status : Answered
Chosen Option : 2

Q.6 Select the option that expresses the given sentence in active voice.
The work will be finished by the mason within a short time.

Ans 1. The mason will be finishing the work within a short time.
2. The mason would have finish the work within a short time.
3. The mason would finish the work within a short time.

4. The mason will finish the work within a short time.

Question ID : 264330143039
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate meaning of the given idiom.
Memory like sieve

Ans 1. Being healthy
2. Poor memory
3. Feeling ill

4. Remembering everything

Question ID : 264330144283
Status : Answered
Chosen Option : 2




Q.8 Select the most appropriate option that can substitute the underlined words in the
following sentence.

He will be looking as if he has not slept.
Ans 1. He looks
2. He has look
3. He was looking

4. He will be look

Question ID : 264330142622
Status : Answered
Chosen Option : 3

Q.9 Identity the correct spelling of the underlined word.

Medical termnalogy is difficult to understand.
Ans 1. tarmnalogy
2. tarminology
3. terminology

4. terminiology

Question ID : 264330143196
Status : Answered
Chosen Option : 3

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.
A person who loves and collects books

Ans 1. Bibliophile
2. Philanthropist
3. Geologist

4. Sommelier

Question ID : 264330143936
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate ANTONYM of the given word.
Amateur

Ans 1. Hobbyist
2. Devotee
3. Layman

4. Professional

Question ID : 264330143217
Status : Answered
Chosen Option : 4




Q.12 Select the most appropriate idiom for the underlined words in the given sentence.

The candidate blamed the persistent traffic jam as reason of his being late and the
interviewer believed him though he was not convinced.

Ans 1. gave the benefit of doubt
2. changed his tune
3. thought err is human and to forgive is divine

4. did not judge the book by its cover

Question ID : 264330144260
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate synonym of the underlined word.
Caves like Ajanta lie in perpetual darkness.

Ans 1. Permanent
2. Extreme
3. Brief

4. Huge

Question ID : 264330147599
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate ANTONYM of the given word.
Comply
Ans 1. Deny
2. Engage
3. Assist

4. Expect

Question ID : 264330142629
Status : Answered
Chosen Option : 1

Q.15 The following sentence has been divided into four parts. One of them contains an
error. Select the part that contains the error from the given options.
The sun /revolves / around / a earth.

Ans 1. The sun
2. revolves
3. aearth

4. around

Question ID : 264330147556
Status : Answered
Chosen Option : 3




Q.16 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
(A) between the two countries
(B) will inevitably count
(C) the recent political incident
(D) against the peace process

Ans 1. CDBA
2. CDAB
3. CBAD

4. CABD

Question ID : 264330148711
Status : Answered
Chosen Option : 4

Q.17 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. or brave man to make
B. money the chief object of his thoughts
C. for a well-educated, intellectual
D. it is physically impossible

Ans 1. ABCD
2. DCAB
3. CDAB
4. CABD

Question ID : 264330147570
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Mahesh'’s attitude annoyed me and | blew into.

Ans 1. annoyed me and | blew over
2. annoyed me and | blew off
3. annoyed me and | blew down of

4. annoyed me and | blew up

Question ID : 264330143625
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate synonym of the word ‘Pervasive’ from the given sentence.

The scientist's hypothesis was substantiated by extensive research and
experimentation.

Ans 1. Extensive
2. Substantiated
3. Experimentation

4. Hypothesis

Question ID : 264330144155
Status : Not Answered
Chosen Option : --




Q.20 Select the most appropriate homophone to fill in the blank.

The dog took a during his walk and lifted his to indicate that he
was tired.

Ans 1. pause; pours
2. pours; pores
3. paws; pause

4. pause; paws

Question ID : 264330144372
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| have few deliberations for you. Don’t leave your hard workto __ 1. If you have gone
to the effort to complete a dialogue, 2 fritter away all the meaning you created by
trusting your memories. Write downthe _ 3 of conclusions, decisions and
assignments. Remembertorecord 4 does what by when. Revisit your notes at key
timesand___ 5 assignments.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank 1.
Ans 1. diary

2. notes
3. memory

4. someone

Question ID : 264330149896
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| have few deliberations for you. Don’t leave your hard workto _ 1 . If you have gone
to the effort to complete a dialogue, _ 2 fritter away all the meaning you created by
trusting your memories. Write downthe _ 3_ of conclusions, decisions and
assignments. Remembertorecord 4 does what by when. Revisit your notes at key
timesand___ 5 assignments.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank 2.
Ans 1. does not

2. did not
3. do not

4. had not

Question ID : 264330149897
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| have few deliberations for you. Don't leave your hard workto _ 1. If you have gone
to the effort to complete a dialogue, _ 2 fritter away all the meaning you created by
trusting your memories. Write downthe _ 3 of conclusions, decisions and
assignments. Remembertorecord 4 does what by when. Revisit your notes at key
timesand___ 5 assignments.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank 3.
Ans 1. titles

2. failures
3. details

4. short cuts

Question ID : 264330149898
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| have few deliberations for you. Don’t leave your hard workto __ 1 . If you have gone
to the effort to complete a dialogue, 2 fritter away all the meaning you created by
trusting your memories. Write downthe _ 3 of conclusions, decisions and
assignments. Remembertorecord 4 does what by when. Revisit your notes at key
timesand 5 assignments.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank 4.
Ans 1. which

2. who
3. that

4. whom

Question ID : 264330149899
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

| have few deliberations for you. Don’t leave your hard workto _ 1. If you have gone
to the effort to complete a dialogue, _ 2 fritter away all the meaning you created by
trusting your memories. Write downthe __ 3 of conclusions, decisions and
assignments. Remembertorecord 4 does what by when. Revisit your notes at key
timesand____ 5 assignments.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank 5.
Ans 1. obliterate

2. introspect
3. speculate

4. review

Question ID : 264330149900
Status : Answered
Chosen Option : 4




Section : General Intelligence

Q1

Ans 1. Bitter — Sweet

2. Green — Leaf

3. Ban — Forbid
Question ID : 264330146986
4. After — Before Status : Answered

Chosen Option : 3

Q.2
Ans 1.
2.
3.
4. Question ID : 264330146686
Status : Answered
Chosen Option : 2
Q.3
Ans 1.
2.
3.
4. Question ID : 264330147084
Status : Not Answered
Chosen Option : --
Q.4
Ans 1. 130
2.138
3135
4. 132 Question ID : 264330150901

Status : Answered
Chosen Option : 4




Q.5

Ans . 54
- 96
- 72
- 28 Question ID : 264330150860
Status : Answered
Chosen Option : 3
Q.6
Ans

P WS

>4 ¥

Question ID : 264330146477
Status : Answered
Chosen Option : 2




Q.7

Ans 1.
2.
3.
4 Question ID : 264330147402
Status : Answered
Chosen Option : 2
Q.8
Ans 1.
2.
3.
4,
Question ID : 264330147107
Status : Answered
Chosen Option : 4
Q.9
Ans 1. 194
2.
3.
4. Question ID : 264330146411

Status : Answered
Chosen Option : 3




Q.10

Ans 1.0

2. 10

3. 11

4. 8

Question ID : 264330147346
Status : Answered
Chosen Option : 4

Q.11

Ans 13618
2 6-18-110

3.2-5-23

4 Question ID : 264330150908
- 5-7-34 Status : Answered

Chosen Option : 2

Q.12
Ans 1. 9
2. 4
3.3
4. ? Question ID : 264330147200

Status : Answered
Chosen Option : 2




Q.13

Ans 1 MKN

Ans 1. 212

2. 209

3. 210

4. 206

Question ID : 264330151007
Status : Answered
Chosen Option : 2

Q.14

4. Finger : Toe

2. QOR
3. GEH
4. TRV Question ID : 264330150973
Status : Answered
Chosen Option : 4
Q.15
Ans 1.
2.
3.
4 Question ID : 264330146868
Status : Answered
Chosen Option : 2
Q.16
Ans 1. Stone : Hard
2. Dry : Wet
Question ID : 264330150983
3. Status : Answered

Chosen Option : 1




Q.17

Ans 1.:37
2.
3. 35
4. 25§ Question ID : 264330146993
Status : Answered
Chosen Option : 4
Q.18
Ans 1
2.
3. Neither conclusion (I) nor (II) is true.
Question ID : 264330151004
4. Status : Answered
Chosen Option : 2
Q.19
Ans 1.
2.
3. Four
4. Question ID : 264330147081

Status : Answered
Chosen Option : 4




Q.20

Ans
% Question ID : 264330147225
Status : Answered
Chosen Option : 1
Q.21
Ans 1.
2.
3.
4. 7:32

Question ID : 264330147134
Status : Answered
Chosen Option : 4




Q.22

Ans 1.
2.
3.
. Question ID : 264330146744
) Status : Answered
Chosen Option : 4
Q23 |n a certain code language,
A+ B means ‘A is the mother of B',
A—-B means ‘A is the brother of B’,
A x B means ‘A is the wife of B,
A + B means ‘' Ais the father of B'.
Based on the above, howis M relatedto Pif M+ N+ QxP-Q'?
Ans 1. Wife's Father's Mother
2. Mother’'s husband
3. Brother's wife
4. Daughter
Question ID : 264330150111
Status : Answered
Chosen Option : 1
Q.24
Ans 1.
2.
3.
4, Question ID : 264330147507

Status : Answered
Chosen Option : 1




Q.25

Ans 1. 124
2. 154
3. 134

Question ID : 264330147378
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Ans 1. 7760

Q.1
Ans 1.
2.
3.
4. )
Question ID : 264330147897
Status : Answered
Chosen Option : 3
Q.2
Ans 1.
2.
3.
4 Question ID : 264330147710
Status : Answered
Chosen Option : 1
Q.3

Question ID : 264330147662
Status : Answered
Chosen Option : 2




Q.4

Ans 1.
2. 28
3. 81
4,
Question ID : 264330148081
Status : Not Answered
Chosen Option : --
Q5
Ans 1.
2.
3.
4. Question ID : 264330147711
Status : Answered
Chosen Option : 3
Q8 The data given in the following table shows the number of boys and girls
enrolled for different games in an academy over 5 years.
Basketball | Football Cricket
Years | Boys | Girls | Boys | Girls | Boys | Girls
2018 | 46 34 42 37 45 35
2019 | 40 41 44 34 42 32
2020 | 43 40 40 32 38 36
2021 | 37 44 43 25 34 28
2022 | 34 41 41 32 41 39
In which year did the academy have the highest enrolment?
Ans 1.
2.
3.
4.

Question ID : 264330147635
Status : Answered
Chosen Option : 1




Q.7

Ans L 90 cm?

2. 80 cm?
3. 84 cm?
4. 2
96 cm Question ID : 264330148095
Status : Answered
Chosen Option : 4
Q.8
Ans 1. 30
2. 28
3. 26
4. 25 Question ID : 264330147712
Status : Answered
Chosen Option : 1
Q.9
Ans 1.
2. 5%
3. 43¢
4,
Question ID : 264330147844
Status : Answered
Chosen Option : 1
Q.10
Ans 1. 20
2. 39
3. 19
4,

Question ID : 264330148225
Status : Answered
Chosen Option : 1




Q.11

Ans 1. 50%
2. 33.33%
3. 20%
a
4 40% Question ID : 264330150654
Status : Answered
Chosen Option : 2
Q.12
Ans 1. 5[}0
2. 420
3.
450 Question ID : 264330148149
4. 400 Status : Answered
Chosen Option : 3
Q.13
Ans 1.1
2. 2
3. f
4.0

Question ID : 264330148062
Status : Answered
Chosen Option : 3




Q.14

Ans 1.
2.
3.
4,
Question ID : 264330148273
Status : Answered
Chosen Option : 4
Q.15
Ans 1. 130°
2. 140°
3.120°
4. 150° Question ID : 264330146444
Status : Answered
Chosen Option : 2
Q.16
Ans 1.
2.
3.
4.
Question ID : 264330148167
Status : Answered
Chosen Option : 1
Q.17
Ans 1328500
2.328250
3. 328750
4.
328000 Question ID : 264330150825

Status : Answered
Chosen Option : 1




18 fox+ 3y =9, and xy = 3, what is 8% + 27y3?

Ans 1. 235
2. 244
3. 243
4. 234
Question ID : 264330147809
Status : Answered
Chosen Option : 3
Q.19
Ans
1.
2.
I
3. =
6
4.
Question ID : 264330147770
Status : Answered
Chosen Option : 4
Q.20
Ans 1.
2.
3.
4.
Question ID : 264330147838
Status : Answered
Chosen Option : 1
Q.21
Ans 1.
2.
3.
4,

Question ID : 264330147742
Status : Not Answered
Chosen Option : --




Q.22

Ans 1.
2.
3.
4. Question ID : 264330150605
Status : Answered
Chosen Option : 1
Q.23
Ans 1.
2.
3.
4. Question ID : 264330149266
Status : Not Answered
Chosen Option : --
Q.24
Ans 1 2150
2. 375
3. 2100
4. 125

Question ID : 264330151111
Status : Answered
Chosen Option : 3




Q2 Simplify the following expression.
0.01+0.68=x068+022x022+0.044 +0.136 + 0.44 = 0.68

Ans L 0.69
2.1

0.8

409

w

Question ID : 264330148159
Status : Answered
Chosen Option : 1

Section : General Awareness

Q1 Who gave the concept of ‘money illusion’ for the first time?
Ans 1. Robertson

2.
3.
4. JM Keynes
Question ID : 264330151267
Status : Not Answered
Chosen Option : --
Q.2
Ans 1.
2.
3.
4.
Question ID : 264330145891
Status : Not Answered
Chosen Option : --
Q.3
Ans 1.
2.
3.
4.

Question ID : 264330144686
Status : Not Answered
Chosen Option : --




Q.4

Ans 1.
2. Dinpanah
3.
4. Siri
Question ID : 264330148571
Status : Answered
Chosen Option : 2
Q.5
Ans 1.
2. Kerala
3. Tamil Nadu
4.
Maharashtra Question ID : 264330150281
Status : Answered
Chosen Option : 2
Q.6
Ans 1
2.
3.
4,
Question ID : 264330151205
Status : Answered
Chosen Option : 1
Q.7
Ans 1.
2.
3.
4,

Question ID : 264330146542
Status : Answered
Chosen Option : 1




Q8

Ans 1. 2023-24 to 2026-27
2..2022-23 to 2026-27
3. 2022-23 to 2024-25
4.2021-22 to 2025-26 Question ID : 264330146247
Status : Not Answered
Chosen Option : --
Q.9
Ans 1
2.
3.
4.
Question ID : 264330144733
Status : Not Answered
Chosen Option : --
Q.10
Ans 1
2.
3.
4.
Question ID : 264330145582
Status : Not Answered
Chosen Option : --
Q.11
Ans 1.
2.
3.
4.

Question ID : 264330145708
Status : Not Answered
Chosen Option : --




Q.12

Ans 1. Kerala
2. Tamil Nadu
3.
4 Odisha Question ID : 264330150087
Status : Marked For Review
Chosen Option : 2
Q.13
Ans 1.
2.
3.
4,
Question ID : 264330145824
Status : Not Answered
Chosen Option : --
Q.14
Ans 1.
2.
3.
4.
Question ID : 264330145695
Status : Not Answered
Chosen Option : --
Q.15
Ans 1.
2.
3.
4.

Question ID : 264330144486
Status : Not Answered
Chosen Option : --




Q.16

Ans 1.

2.

3. Diarrhoea

4. Question ID : 264330150724
Status : Answered
Chosen Option : 2

Q.17 The name of the Brahmin priest who later came to be known as Ramakrishna Paramahansa is:

Ans 1.
2.
3.

4. Warendra MNath Datta

Question ID : 264330150397
Status : Answered
Chosen Option : 4

Q18 Ravi Shankar is famous for which of the following musical instruments?
Ans L. Veena

2. Sitar

3. Algoza

4. Flute

Question ID : 264330148681
Status : Answered
Chosen Option : 2

Q19 (Chali, Jhumura and Nadu Bhangi are associated with which Indian classical dance form?

Ans L. Kathakali
2. Sattriya

3. Manipuri

4. Kuchipudi

Question ID : 264330151317
Status : Answered
Chosen Option : 2




Q.20

Ans 1 1891
2. 1885
3. 1876
4. 1882
Question ID : 264330150226
Status : Answered
Chosen Option : 2
Q.21
Ans 1.9
2.
3. 8
410 Question ID : 264330154805
Status : Not Answered
Chosen Option : --
Q.22
Ans 1.
2.
3.
4,
Question ID : 264330145771
Status : Not Answered
Chosen Option : --
Q.23

Ans 1. Karnataka

3. Odisha
4. Maharashtra

Question ID : 264330150251
Status : Answered
Chosen Option : 2




Q.24

Ans 1.

Question ID : 264330145934
Status : Answered
Chosen Option : 3

Q25 Which of the following industries is its own major consumer in India?

Ans 1.
2. Aviation
3. Automobile

4. Chemical

Question ID : 264330150242
Status : Answered
Chosen Option : 1
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